BID FORM - DNR80044 - GPS HAND I	HELD UNITS WITH ACCESSORIES BID
OPENING October 19,2006, 1:30 PM	

ITEM DESCRIPTION	QTY.	UNIT PRICE	TOTAL
* Trimble GeoExplorer 2005 Series GeoXH Handheld	. 1	\$ 4739	\$ 4,739.
* Trimble GeoExplorer 2005 Series GeoXT Handheld	3	\$ 3874	\$ 11,532 -
* Trimble GeoExplorer 2005 Series GeoXM Handheld	4	\$ 2322.	\$ 9,288.
4 GB 150X SD Card	8	\$	\$
Serial Clip	4	\$ 85.	\$ 340
Vehicle Power Supply Adapter	4	\$ 107	\$ 428-
Null Modem Cable	4	\$ 15	\$ 60
Trimble GPS Correct	8	\$ 443.	\$ 3544
ESRI ArcPad 7.0	8	\$ 443	\$ 3544
GeoXH Cat 3 Hardware Extension - 2 years	8	\$ 290	\$ 2320
Grand Total			\$ 35, 785

^{*} Please quote this brand & model or equal - Provide literature for other brand bid

Name: Address: KEYSTONE PRECISION 2140-1 PRIEST BRIDGE CT CROFTON, MD 21114 Phone#: 800-331-8451 Email: NewT@keypre.com CONTRACT COORDINATOR INFORMATION: Name: Address: Phone#: Email:

BIDDER / VENDOR INFORMATION:



2646 Lehigh St., Whitehall, PA 18052 Main Office # 800-833-9250 Fax # 610-266-3240

> Other Office Locations Crofton, MD: 800-331-8451 Milford, MA: 888-443-9840

Quotation # 0022908

QUOTE NUMBER: 0022908 QUOTE DATE: 10/13/06

EXPIRATION DATE: 11/12/06

SALESPERSON: 0018 ENTERED BY: NRC CUSTOMER NO: 0008575

JOB NAME: Geo Explorers

CUST INFO: State of West Virginia 2019 Washington St. East Purchasing Division PO Box 50130

Charleston, WV 25305-0130

PHONE: 304-558-0492 FAX

KEYSTONE CONTACT:

House Account

CUSTOMER CONFIRM TO: Beverly Carte

SHIP VIA	F.O.B.	TERMS		
UPSGRND		Due Upon Receipt		
ITEM NUMBER	UNIT	QUANTITY	PRICE	AMOUNT
6100000	EACH	1.00	4,739.00	4,739.00
Trimble GeoXH Sta	nndalone	List Price:	5,295.00	·
6100020	EACH	3.00	3,844.00	11,532.00
Trimble GeoXT Sta	indalone (2005)	List Price:	4,295.00	
6100050	EACH	4.00	2,322.00	9,288.00
Trimble GeoXM St	andalone(2005)	List Price:	2,595.00	
5355000	EACH	4.00	85.00	340.00
Trimble GeoE 2005	Serial/Powr Clip	List Price:	95.00	
39182	EACH	4.00	107.00	428.00
Trimble Power/Data	a Splitter to Vehicle Adapter Cable.	List Price:	120.00	
TDS51295	EACH	4.00	15.00	60.00
TDS cable for envir	ronmental case to PC 9pin/9pin	List Price:	15.00	
4683704	EACH	8.00	443.00	3,544.00
Trmible GPScorrec	t for ArcPAD	List Price:	495.00	
51039	EACH	8.00	443.00	3,544.00
ArcPad Software		List Price:	495.00	
	user information, including company and phone and fax numbers when order			
4728903	EACH	8.00	290.00	2,320.00
Trimble Hardware	Warranty Extension	List Price:	325.00	





2646 Lehigh St., Whitehall, PA 18052 Main Office # 800-833-9250 Fax # 610-266-3240

> Other Office Locations Crofton, MD: 800-331-8451 Milford, MA: 888-443-9840

Quotation # 0022908

QUOTE NUMBER: 0022908

QUOTE DATE: 10/13/06

EXPIRATION DATE: 11/12/06

SALESPERSON: 0018 ENTERED BY: NRC

CUSTOMER NO: 0008575

JOB NAME: Geo Explorers

CUST INFO: State of West Virginia 2019 Washington St. East Purchasing Division PO Box 50130 Charleston, WV 25305-0130 KEYSTONE CONTACT:

House Account

PHONE: 304-558-0492 FAX

CUSTOMER CONFIRM TO: Beverly Carte

SHIP VIA	F.O.B.	TERMS		
UPSGRND		Due Upon Receipt		
ITEM NUMBER	UNIT	QUANTITY	PRICE	AMOUNT

Net Order:

35,795.00

Approx. Freight: Approx. Tax:

 $0.00 \\ 0.00$

Quote Total:

35,795.00

Quotation # 0022908

	Order Placement Procedures				
	Complete and Sign this Quotation Sign this quotation and return via mail or facsimile be	fore the expiration date: 11/12/06			
	Complete Lease Agreement If this order is to be leased, complete the lease agreement sent to you, following the enclosed instructions. Order fulfillment will start after the lease is approved. Please note that due to fluctuations in interest rates, leasing terms cannot be guaranteed, contact House Account to lock-in rates.				
	Down Payment If order requires a deposit, please send payment with the original	ginal signed quotation.			
	Set Delivery Date Contact House Account to confirm the delivery date.				
	Credit Card Payment If you would like to pay with a credit card, please complete the	ne account information below:			
	Credit Card Type:				
	Number:				
	Expiration Date:/				
	Name on Card:				
	Signature: X				
	Quotation Approval				
	Sales Representative	Client Pennagentative			
		Client Representative			
2	Approved By (Signature)	Approved By (Signature)			
	Approved by (Signature)	Approved by (Signature)			
	Approved By (Name)				
-	Approved By (Name)	Approved By (Name)			
	10/13/06				
•	Date 11/12/06	Date			
	0022908 11/12/06				

**** Restocking charge of 15% on returned goods. ****

RFQ No.	
---------	--

AFFIDAVIT

West Virginia Code §5A-3-10a states:

No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owned is an amount greater than one thousand dollars in the aggregate.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions.

"Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION:

The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

LICENSING:

Revised 02/08/06

The vendor must be licensed in accordance with any and all state requirements to do business with the state of West Virginia.

CONFIDENTIALITY:

The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendors should visit www.state.wv.us/admin/purchase/privacy for the Notice of Agency Confidentiality Policies.

Under penalty of law for false swearing (West Virginia Code, §61-5-3), it is hereby certified that the vendor acknowledges the information in this said affidavit and are in compliance with the requirements as stated.

Vendor's Name:	Keystone	Precision	InsT		
Authorized Signatu	re: ///		Date:	10/13/06	
No Debt Affidavit	0			11	